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Topic:- HSS BA S2
1) Which type of volcanic eruptions has caused Deccan Trap formations?

b1 g @ Sarcgdl RRWIA & BRUI Sadel TU Aoy 58 37
[Question ID = 5235]

Shield / ofies [Option ID = 20934]

Flood / arg [Option ID = 20935]

Composite / @waifsie [Option ID = 20936]

Caldera / wresa [Option ID = 20937]

AW N =

Correct Answer :-
® Flood / arg [Option ID = 20935]

2) A deep valley characterised by steep step-like slopes is known as -

FU-SIA Golol dicil faoruarsii archl sisdt arét o waa 3 -

[Question ID = 5236]

1. U-shaped valley / g-3m@R ( U-aakar) <t arct
[Option ID = 20938]

2. Blind valley / 3ieft arct
[Option ID = 20939]

3. Gorge / sirst

[Option ID = 20940]
4. Canyon / ®forret

[Option ID = 20941]

Correct Answer :-
e Canyon / ®feriel
[Option ID = 20941]

3) Insolation is defined as -

3TaYel (3o=dlciorel) ol ufvenfta fdpwm sk 3 -

[Question ID = 5237]

1. The incoming solar radiation / 3ol aremr 32 fafeszur [Option ID = 20942]

2. The outgoing solar radiation / sfgstisft itz fafesur [Option ID = 20943]

3. Total radiations absorbed by the earth / gedt grr smagifta aer fafepzur [Option ID = 20944]
4. Total radiations reflected by the earth / gedi grr uf¥cifér get fafdseur [Option ID = 20945]

Correct Answer :-
e The incoming solar radiation / 3! are 32 fafeszur [Option ID = 20942]

4) The direction of wind around a low pressure in northern hemisphere is -

Jasdt sienet 3 foreor cara @ arl 3= gar & o 3 -
[Question ID = 5238]

. Clockwise / @werasarsst [Option 1D = 20946]

. Anti-clockwise / vél-werrmarsst [Option ID = 20947]

. Perpendicular to isobars / smsileR @ ciead [Option ID = 20948]
. Parallel to isobars / sms2ilarR @ wieiaR [Option ID = 20949]

A w N =

Correct Answer :-
® Anti-clockwise / odt-wenaarsst [Option ID = 20947]

5) ldentify the element which is not a part of the hydrological cycle

I deq bl Usdarel HISRA Sil srEgicifsrad aay oI 33211 oél &
[Question ID = 5239]

1——Evaporatiom 7 samRver fOptiomtb—=20956%
2. Precipitation / GRiidicorer [Option ID = 20951] i
3. Hydration / am3gmr [Option ID = 20952] www.FirstRanker.com

4. Condensation / @seriewEt [Option ID = 20953]
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6) GDP is the total value of produced dOMMEW JaHistRapser.com www.FirstRanker.com
SiEIdL ol frdy ad @ Sheret seurfea DT Bl YT
[Question ID = 5240]
. All goods and services / it a=qgail 3iiz Aamsii [Option ID = 20954]
. All final goods and services / Jmsft 3emuas 3ol 3ii Aamsit [Option ID = 20955]
. All intermediate goods and services / Jsft steeradt et sz Jrarsii [Option ID = 20956]
. All intermediate and final goods and services / sft aeeradt sz @MU et siiz Aaisit [Option ID = 20957]

A WN -

Correct Answer :-
e All final goods and services / st Zrmue 2merer iz Aansit [Option ID = 20955]

7) ‘The Drain of Wealth’ concept was given by -

‘3o 3t dcer &l sraemzun fpad GRI & o1 eff -

[Question ID = 5241]

1. Dadabai Naoroji / sremrs sitarstt [Option ID = 20958]

2. J. C. Kumarappa / 3. 2. ggamoar [Option ID = 20959]

3. Dr. Vikas Mishra / Si. fdort fargn [Option ID = 20960]

4. Mahadev Govind Ranade / #@1ea siifds 3rems [Option ID = 20961]

Correct Answer :-
e Dadabai Naoroji / arerars siiisht [Option ID = 20958]

8) Cash Reserve Ratio (CRR) ensures that -

olbe RIS srgqurd (MsmRaR) Jforlaa ozar 3 & -

[Question ID = 5242]

. All banks are ‘over borrowing’ / sft @ aifeifse 3emst vz & [Option ID = 20962]

. No bank is ‘over lending’ / @1$ sft @ aifeif¥d @of ot S 2813 [Option ID = 20963]

. No bank is ‘over borrowing’ / @1 sft d® aifeil¥ed 3ut w2 odf & [Option ID = 20964]
. All banks are ‘over lending’ / 2msft ¥ aiftif¥e semz & 3 & [Option ID = 20965]

AW N =

Correct Answer :-

e No bank is ‘over lending’ / @1 sft ¥ aifeifse @l ot S 21 8 [Option ID = 20963]

9) The RBI can influence money supply by changing the rate at which it gives loans to the commercial banks. This rate is
called the in India

IAREITE 3 G2 DI Fcerd? &ol DI gfel DI genfaa o2 Addl 3 BRI R a6 dIfdIfSae dbl DI SBUI SATS $A G DI HRA A _____ sl SIiel 3
[Question ID = 5243]

Repo rate / 3t g2 [Option ID = 20966]

Bank rate / d@® g2 [Option ID = 20967]

Reverse repo rate / f¥a=f 3@t 3¢ [Option ID = 20968]

Purchase agreement / xi3$ig Jmrsiia [Option ID = 20969]

A w N =

Correct Answer :-
e Bank rate / @ g2 [Option ID = 20967]

10) All those receipts of the government which create liability or reduce financial assets are termed as:

IRPR DI d el RAIS SN S Ut el 3 a1 fordlr ufRiuftrRil of o ol 3: 368 el Sl 3t
[Question ID = 5244]

Revenue receipts / 2rsza gife [Option ID = 20970]

Revenue expenditure / 3sa =rr [Option ID = 20971]

Capital expenditure / ggfisra srr [Option ID = 20972]

Capital receipts / ggfera giftt [Option ID = 20973]

A w N =

Correct Answer :-
e C(Capital receipts / gsfera gifet [Option ID = 20973]

11) The Golden triangle tour of India comprises the following destinations

HRd I Fqui fepst ¢ 3 forarferl¥aa siaer onfdrer 3

[Question ID = 5245]

. Agra - Amritsar - Jaipur / 3BRI - 3ERR - sRIg2 [Option ID = 20974]
. Agra - Delhi - Jaipur / 3mRr - f&eeft - srige [Option ID = 20975]

. Agra - Mount Abu - Delhi / 3mRr - #i5e 3iq - f&eeft [Opti \[&WO £S)
. Agra - Amritsar - Delhi / 3BRI - 3ERR - f&eeit [Option M 0 7?;7' I]StRanker'Com

A w N -

Correct Answer :-
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‘:tfﬁﬁdﬂﬂkﬁﬂ&tﬁﬁiﬂ&utside the country of reference is termed as - .
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IR So1 D g2 forardl &t sifcifaferi ot forsiferRaa i A fovar wu 3 Sirer sirar 3 -
[Question ID = 5246]

Domestic Tourism / @3¢ wicar [Option ID = 20978]

Inbound tourism / siderfsft wicer [Option ID = 20979]

. Outbound tourism / w@aiisft @1 wieet [Option ID = 20980]
. Local tourism / Zemofter wicer [Option ID = 20981]

A W N -

Correct Answer :-
® Outbound tourism / ssifeft @1 wicat [Option ID = 20980]

13) Valley of Flowers National Park is situated in -

Gl bl 7l Is¢RI Jemmot e 3t

[Question ID = 5247]

Uttarakhand / 3@ras 3 [Option ID = 20982]

Uttar Pradesh / 3@z gger 3t [Option ID = 20983]

. Himachal Pradesh / et ggor 3 [Option ID = 20984]
. Sikkim / fiferasar 3 [Option ID = 20985]

A WN -

Correct Answer :-
e Uttarakhand / 3mrxis 3 [Option ID = 20982]

14) Island Toursim Festival is held at ?

amscls ¢fRifa IaRe _____ 3 smRifSia g strar 3?7
[Question ID = 5249]

Port Blair / @i¢ scrrz [Option ID = 20990]

. Colombo / mieidr [Option ID = 20991]

. Diu / dta [Option ID = 20992]

. Panaji / uuwstt [Option ID = 20993]

A W N -

Correct Answer :-
e Port Blair / oi¢ scrrz [Option ID = 20990]

15) At the time of the Industrial Revolution, Britain’s main raw material was -

Menf3rm wpifer @ R, fYCor DI PR Dear A o -
[Question ID = 5250]

Iron / eter [Option ID = 20994]

. Coal / @rren [Option ID = 20995]

. Aluminium / sicefiformar [Option ID = 20996]

. Gold / 3fer [Option ID = 20997]

A WN -

Correct Answer :-
® Coal / o@rrenm [Option ID = 20995]

16) ‘Which of the following Governor General was called ‘Liberator of Indian Press’?

forgotferRaa 3i 3 b1 s1acik StelRel Bl MRARI YA &1 JFRBSIAr a1 SIrar en?
[Question ID = 5251]

Lord William Bentinck / @iis fafermer dfea [Option ID = 20998]

. Sir Charles Metcalfe / 31 areaf dicwms [Option ID = 20999]

. Lord Auckland / ifg sifwcts [Option ID = 21000]

. Lord Ellenborough / €ifg weleraR! [Option ID = 21001]

A WN =

Correct Answer :-
o Sir Charles Metcalfe / 3r arcf dicomws [Option ID = 20999]

17) Which of the following is not a correct statement with respect to Surendranath Banerjee?

F3ome doroll @ der 3 forFotferRad i A dlot AT Derel A o1dl 37

[Question ID = 5252]
1. He was co-founder of Indian National Association / a& sfSel oioleicl TAIRLIG B Js-ATUD o |

[Option ID = 21002]

2. He was founder of Ripon College in Kolkata / ﬁﬁ%ﬁ?mﬁér com

[Option ID = 21003]
3. He is known to have evolved National Consciousness as a formal concept / @ v 3liudIi¥e MAERUI & FU 3 AR Aol [ABRIA B0l D fere el SInd 3
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Correct Answer :-
® He co-founded Sadharan Brahmo Samaj with Anandmohan Bose / 3c@iol siieiceilae dR1 @ Arel ARUI &I TSI DI T2l i |

www.FirstRanker.com www.FirstRanker.com

[Option ID = 21005]

18) With reference to Bahadur Shah Zafar, which among the following statement is not true?

TBIG? 9118 SR O e 3, forgafciRaa 3 21 Plol AT Deret Il ordl 3?7

[Question ID = 5253]

He was an emperor without empire / az Jmsa @ feir v 3@pe 4| [Option ID = 21006]

He was a warrior without any war experience / ds fder fobil g @ siosra @ =gt | [Option ID = 21007]
Hasan Askari was his spiritual guide / a3l 3RS o1 smeanfesres smicefd & | [Option ID = 21008]

He succeeded to the throne in 1845 A.D. / as 1845 3. 3 Risriel w amrRfier ge| [Option ID = 21009]

A w N =

Correct Answer :-
® He succeeded to the throne in 1845 A.D. / as 1845 3. 3 Risriel w smRflel ge| [Option ID = 21009]

19) Who among the following is not a Social Entrepreneur Awardee?

forgatfcii¥ad 3 A Plel vop AMISIP IeEiial GRoR fasIdr oiél 87
[Question ID = 5255]

. Urvashi Sahni / 3doft 2mesit [Option ID = 21014]

. Prema Gopalan / 9gm situretat [Option ID = 21015]

. Ela Bhatt / semr 12 [Option ID = 21016]

. Maneka Gandhi / drr stieft [Option ID = 21017]

A wWw N -

Correct Answer :-
e Maneka Gandhi / dierar stieft [Option ID = 21017]

20) Dr. APJ Abdul Kalam IGNITE Awards are given to original technological ideas and innovations by -

3i. udlst sreger et IGNITE g et daveiidl foRIRI 3R slarIRl dfere fvorp! &= Sirer 3 -

[Question ID = 5256]

1. Children up to class 12 or those out of school up to the age of 17 years / 12 df @wen aw @ fremeff 21 17 et dw 6t 39 B Iaxet of Strelaret acdl at| [Option
ID =21018]

2. Undergraduate students of science stream only / d@act fsirer @sf @ olide @it [Option ID = 21019]

3. Graduate students of Arts and Social Science streams only / @aet wett 3R ARIRID frsiTel B olad sy @1| [Option ID = 21020]

4. Engineering students of IITs. / amg.ams.c¢t @ sofiforif3st s1qt ot [Option ID = 21021]

Correct Answer :-

e Children up to class 12 or those out of school up to the age of 17 years / 12 df @wen do @ faeneff =n 17 et dw Bt 39 B Ia¢T of Stolare! acat d1| [Option
ID =21018]

21) Which of the following statement is true about the entrepreneurial climate?

Jerfiar arararur & ar 3 foreiferRaa 3 A dlel AT Dol AT 37

[Question ID = 5257]

1. Trial and error are discouraged / uslemr ik gfe @l adlmfad fdpar smr & [Option ID = 21022]

2. Resources of the firm need to be available and easily accessible / waf @ Jireroil &1 3uctserdr vd 31Rie1 FPow@rar [Option ID = 21023]
3. A multi-disciplinary approach is discouraged / ve ag-firia efteaivr ol adlcnfad fsen siar 8 [Option ID = 21024]

4. Failure is not allowed / sRiwetar & sopif orét & [Option ID = 21025]

Correct Answer :-

e Resources of the firm need to be available and easily accessible / wef & meril &t 3uctstrr vd 3RIel Jpwaar [Option ID = 21023]

22) Which of the following best represents the practice of starting new organizations or in response to identified
opportunities?

forgarfeiRaa 3i A1 Pl 21 fdeu o1u HeIdall @ 3RFA IIeAAT Ul 318 ARl @ Yfeifdgan w1 yferfoiftrea war 87
[Question ID = 5258]

Partnership Marketing / 2SRt fuvier [Option ID = 21026]

Research Management / sigpRierer gdtrer [Option ID = 21027]

Entrepreneurship / 3afdrar [Option ID = 21028]

4. R & D / sioRiare vd fdwrr [Option ID = 21029]

w N =

Correct Answer :-
e Entrepreneurship / 3afdar [Option ID = 21028]

23) A Social Intervention project was aimed to train young volunteers to work with the country’s elderly population, to
document their stories and to develop recreational activities etc. This is an example of
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[Question ID = 5259] www.FirstRanker.com www.FirstRanker.com
. A social action for holistic intervention / @] s3asu @ fere v AW wrRas [Option ID = 21030]
. Social inclusion and mental health / JmwufS Jemder sl R Fare [Option ID = 21031]
. A social innovation on loneliness intervention / sm@ciust @ &3A8 W vep ARG srarar [Option ID = 21032]
. Public responsibility for old age people / ggi @ fére Ardsifore R@dert [Option ID = 21033]

A w N =

Correct Answer :-
® A social action for holistic intervention / 3] 83dgu @ feére v AEnfsies wr¥ars [Option ID = 21030]

24) Which of the following is not a greenhouse gas?

forgoiferRaa 3 3 Dol 2l sficrarsa 311 ordl 3?7
[Question ID = 5260]

. Methane / 3fidfer [Option ID = 21034]

. Carbon dioxide / ot sissifazmss [Option ID = 21035]
. Nitrous oxide / airsca1 siiamss [Option ID = 21036]

. Hydrogen / smstster [Option ID = 21037]

A w N -

Correct Answer :-
e Nitrous oxide / aisg sifaznss [Option ID = 21036]

25) The coal that still contains recognizable content of plant material is -

ag DRIcH SR 3nil off usare! s IRiq ARG & R Dad 8 -
[Question ID = 5261]

Peat / die [Option ID = 21038]

Bitumen / srwice [Option ID = 21039]

Lignite / fémomse [Option ID = 21040]

Coke / @@ [Option ID = 21041]

A w N =

Correct Answer :-
e Peat / die [Option ID = 21038]

26) Tetraethyl lead is used as a:

egrefiret oS ot 3uRIeT forget 3 A fipr wu 3 fpan siran 3:
[Question ID = 5262]

. Petrol additive / et uf3fea [Option ID = 21042]

. Mosquito repellant / ez 9reror arerr [Option ID = 21043]

. Fire extinguisher / aifSatomsras [Option ID = 21044]

. Pain killer / &¢ forarea [Option ID = 21045]

A wWw N -

Correct Answer :-
e Petrol additive / ucer ufsfea [Option ID = 21042]

27) Which of the following two metals are used in making transistors?

<ifSe? Sotrol 3 foroifei¥aa 3 31 fvot <1 &3l T IuRIeI fdv= Siar 3?7
[Question ID = 5263]

Silicon and germanium / Riférastor siie swiformr [Option ID = 21046]

Iridium and tungsten / sRfe=m 3liz dorrear [Option ID = 21047]

Silicon and tungsten / Rifereier 3z dorzeat [Option ID = 21048]

Columbium and silicon / @ieiferm iz Biferfar [Option ID = 21049]

A W N -

Correct Answer :-

e Silicon and germanium / Riferfer siiz sEiformer [Option ID = 21046]

28) Fresh fruit juices of Litchi, Grapes, etc. when stored at low temperatures give the drink a cloudy appearance. The
most plausible reason for this is:

D dIudATel U= #sIid glol UR cildl, 3o 31fe @ dArSi 33 EIel MHRI SAl 8 3ADI AT AScAYUl PRI 3.
[Question ID = 5264]

1. Cellulose and hemi-cellulose gets dissolved due to enzymatic action during the extraction forming colloidal solution. / vsirsdfed BRUNRN dlcsse

TRIGTIIGl D GIal Aceisl iR 3aft-Acfellst geftey 2t st &| [Option ID = 21050]
2. Sugars present in fruits form colloidal solution at low temperatures / weil 3 silslg 911 B Al U2 DIclssd &lel dolrcdt 3 [Option ID = 21051]

3. At low temperature, pectms form colloidal partlcles which do not settle / a1 amerer w2, Ufereat fﬁmlssa DUl aauﬁ 25l Ber ol 8l & [Optlon ID = 21052]

21053] )
www.FirstRanker.com

Correct Answer :-
e At low temperature, pectins form colloidal particles which do not settle / e amerer 2, Ufdrcot Plclsset DUl Jolld 3 sit FerR ofdl 8l & [Option ID = 21052]
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I_ . Whicht efith & fottewifgpfeeess best identifies the scarlet king's snake survival strategy?
www.FirstRanker.com www.FirstRanker.com

fortien e AU 3z fRadlar ToRele a1 AU, Jloll @ IR UR erd, Uler 3iiz ®icl 301 &t afsif aidl 3 foafeiRaa 3 A ®ia 2 gfigan s@ree
foser wifu bt Sfiaet 2vrGhifer B AR sreedt are A afdroaa wdl 3?7

[Question ID = 5265]

1. Camouflage / secmrazur [Option ID = 21054]

2. Imprinting / sm [Option ID = 21055]

3. Mimicry / smgas3ur [Option ID = 21056]

4. Kin selection / faper Bretaorer [Option ID = 21057]

Correct Answer :-
e Mimicry / sm2ur [Option ID = 21056]

30) The United Nations Framework Convention on Climate Change (UNFCCC or FCCC) is also known as:

Sicrary, uf¥acder ur IR Asg, Barad Adcctdd (UNFCCC = FCCC) so1dt A fpatr @ u 3 oft siren siran 3:

[Question ID = 5266]

1. Kyoto protocol / a=iict gicidiet
[Option ID = 21058]

2. Vienna convention / frTel Jedictot
[Option ID = 21059]

3. Earth summit / freq fSraz J@dcte

[Option ID = 21060]
4. None of these / sowi 3 ®I$ oft ordt

[Option ID = 21061]

Correct Answer :-
e Earth summit / fea foraz JFdcter
[Option ID = 21060]

31) Which of these is NOT an expected effect of climate change?

$otdl A Dlol AT SIcrar] uf¥acder T Afdra ysima oidl 37
[Question ID = 5267]

1. Sea levels rising / Jm@ic Skt a2 @1 gsont [Option ID = 21062]

2. Flooding in coastal cities / adkr 983t 3 are [Option ID = 21063]
3. Expanding glaciers / safSrri @1 fdzar [Option ID = 21064]

4. Extreme weather / @3z ailawr [Option ID = 21065]

Correct Answer :-

e Expanding glaciers / scifSrRI @1 fdzar [Option ID = 21064]

32) A forest fire resulted in large amount of smoke. People in the nearby areas started getting headaches, dizziness and
vomiting. Some found it difficult to breathe and fell unconscious. The reaction which caused the above difficulty is
because of the inhalation of .

Sioret bl 31PT @ PRI I3t AIqgY 3 31l formenn [T BT RT-URT @ sepl @ vl @l Rred, aam: siik 3céi dlol opll| @ @l A da i
ofdorré 5$ iz A 3191 A 31¢ APNDY 5§ IWTD DBISOIEA BT PRV ___ D ATA AT A 3

[Question ID = 5268]

1. CO [Option ID = 21066]

2. CO, [Option ID = 21067]

3. NH; [Option ID = 21068]

4. SO, [Option ID = 21069]

Correct Answer :-
e CO [Option ID = 21066]

33) Which of the following does not describe the cultivation of plants without soil?

forgotferfR3aea 3 3 diol Bl & e diell &bt Fcht o1 avicr o1&t waer 3?7
[Question ID = 5269]

1. Aeroponics / wmlfora=i [Option ID = 21070]

2. Hydroponics / digmifera=t [Option ID = 21071]

3T TFOgPONTITS 7 BrMIeaT [Optiom 1D=210727
4. Geoponics / fsiuifora=r [Option ID = 21073]

www.FirstRanker.com

Correct Answer :-
e Geoponics / fosimfera [Option ID = 21073]
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[Question ID = 5270]
. A. Tardigrades / erdlsiet [Option ID = 21074]
. B. Water Tears / umeft @ 3ii3f [Option ID = 21075]
. C. Both A and B / A iz B 3t [Option ID = 21076]
. D. Neither A nor B / A 3iiz B gleil oét [Option ID = 21077]

A w N -

Correct Answer :-
e A. Tardigrades / erdisigar [Option ID = 21074]

35) Which Space agency has discovered the 'First nearby Super-Earth'?

fop=1 siaf¥er wolRdl of 'geer sreISihl Ju=-3ief’ &I st b 3?7

[Question ID = 5271]

. The National Aeronautics and Space Administration (NASA) / aiofelct v3lsiffedt ts 3 wsfiforeorsr (NASA) [Option ID = 21078]
. Indian Space Research Organisation (ISRO) / st siaf¥st sioRienet Jssat (ISRO) [Option ID = 21079]

. The European Space Agency (ESA) / Rdlr sfafser woizlt (Seeme) [Option ID = 21080]

. Chinese National Space Agency (CNSA) / <fioft arfer sifeer woiit (CNSA) [Option ID = 21081]

A w N =

Correct Answer :-
e The National Aeronautics and Space Administration (NASA) / aioteret vlsiffedt os 301 wsfiiforegora (NASA) [Option ID = 21078]

36) Scientists have developed a new battery material based in with charging speed 5 times faster than lithium-ion
batteries
dsiiforepi of fIfPRI 3IRIol e bl gefoll i 5 3ol ISt JIfel @ ATl ATt 81 Abol difer U3 SNENT¥ U off Sl ARP) fpl¥a & 3

[Question ID = 5272]

. Graphene / sjibler [Option ID = 21082]
Carbon / @rdar [Option ID = 21083]
Nitrate / ssee [Option ID = 21084]
Chromium / @férmer [Option ID = 21085]

N

A w N

Correct Answer :-
e Graphene / sbler [Option ID = 21082]

37) Name the Indian Nuclear Capable Land Attack Cruise Missile that was successfully tested with a strike range of 1000
km?

HRARI URAIYL ST 3 Yeb bl 9l UR AR B2 Apol arclt 1000 & 3ft Ia1 bl @ sIfdRIsa Brie Awaagde udlsnr e sRI o1, @I oet
|

[Question ID = 5273]

. Agni / aifSor [Option ID = 21086]

. Nag / 3pemyet [Option ID = 21087]

. Nirbhay / fwfar [Option ID = 21088]

. Babur / sraz [Option ID = 21089]

A WN -

Correct Answer :-

e Nirbhay / fersfer [Option ID = 21088]

38) Which of the following animal is believed to be the reservoir of some of the deadly viruses such as Ebola and Corona
virus?

forgoiferRaa 3t 27 o1 Sietar I Fdlen 3iis PRIGT ARR3A SR ATAD ARRA BI HSR HALGH STl 37
[Question ID = 5274]

Bat / @cem [Option ID = 21090]

Butterfly / ferreft [Option ID = 21091]

Eagle / $sre1 [Option ID = 21092]

Snake / 3ifg [Option ID = 21093]

A wWN =

Correct Answer :-
® Bat / acem [Option ID = 21090]

39) Which is the world's first successful electronic computer?

gforI @I uscll AWl sciacifold PRIC Diol AT 37
[Question ID = 5275]

1. PARAM [Option ID = 21094]

2. CRAY-1 [Option ID = 21095] www.FirstRanker.com
3. Pascaline / ur@emsar [Option ID = 21096]

4

. ENIAC (Electronic Numerical Integrator and Computer) / ENIAC sclagiford oxgif¥aet sciSfe= siik @wje? [Option ID = 21097]
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40) Who among the following used the term coWWYXragﬁﬁ%%eﬁrﬁqme? www.FirstRanker.com

forgoiferRaa 3 31 fep=1or Uscll R BRIc: a3t 916G DI s3I fepar?
[Question ID = 5276]

1. John Brunner / sifel gor [Option ID = 21098]

2. Alan Turing / wetet cgf¥st [Option ID = 21099]

3. John McCarthy / Sifet diepreff [Option ID = 21100]

4. JP Eckert / Sudt wasd [Option ID = 21101]

Correct Answer :-
e John Brunner / Sifet gorz [Option ID = 21098]

41) 1024 bits will be how many bytes?

1024 e foelol 915 Bidl?
[Question ID = 5277]

128 [Option ID = 21102]

56 [Option ID = 21103]

32 [Option ID = 21104]

16 [Option ID = 21105]

A W N -

Correct Answer :-
e 128 [Option ID = 21102]

42) Which of the following is not a primary data storage device?

forgotferfRae 3 31 Dol b YreIfdias  SIeT $ISRUT Ut oidl 37

[Question ID = 5278]
1. Magnetic Tape / gadkr &u

[Option ID = 21106]
2. Magnetic Disk / geadir f&x®

[Option ID = 21107]
3. Optical Disk / sifftceer e

[Option ID = 21108]
4. All of these / 2msft fraseu

[Option ID = 21109]
Correct Answer :-
o All of these / it fdrapcu
[Option ID = 21109]

43) A ‘database environment’ includes .

TP 3TIdA Ardravl d onfdrct aier 3

[Question ID = 5279]
1. Hardware and Software only / sS&RR IR AftcRR

[Option ID = 21110]
2. People and the procedures only / @il 3fiz gfepemd

[Option ID = 21111]
3. Data only / @aet Ser

[Option ID = 21112]
4. All of these / 2msft fraseu

[Option ID = 21113]
Correct Answer :-
e All of these / it fdapeu
[Option ID = 21113]

44) Which of the following is not an element of Buddhism?

fRroifeiBar 3 A ol dig ef o dca ol 37 www.FirstRanker.com
[Question ID = 5280]



_‘ha igiog’ er i d , el D i ucp 9rarel 3 [Option ID = 21114]
.1ou nni) gft t ?s; d ] I TSIl D foru AR I&s AT 3maeA® & [Option ID = 21115]
l bTejéfgﬁﬁg&gqfﬁﬂi%ﬁéeincarnation / I8 at 31 Yotsioat bl sraarumsii w f[eart & [Option ID = 21116]
- Itencolia ofd Setdlgence / s el iy i SRR C G111 ¢ [OPton PwiWIFirstRanker.com
Correct Answer :-
e Buddha, the religion’s founder is a god / g, tpf @ Jizemus vw swm@re & [Option ID = 21114]

45) The Gift of India is a poem which embodies the spirit of patriotism for the motherland. It was written by -

“Rrue 3ife A" v ofdar 3 sl Argef & e SoRkp Bl saon dIYdls 2 A6 ____ D SRI A6 fordl 38 3 |
[Question ID = 5281]

Sarojini Naidu / 3RifSwfl airrg, [Option ID = 21118]

Swami Yogananda Paramhansa / ¥awft @iersic ware [Option ID = 21119]

Rabindranath Tagore / 3figgirer stz [Option ID = 21120]

Swami Vivekananda / zawpft fi@@reic [Option ID = 21121]

A WN -

Correct Answer :-
e Sarojini Naidu / RifSweft srers, [Option ID = 21118]

46) Consider the following statements of Ghoomar dance.
i. It is a traditional folk dance developed by the Bhil tribe of Rajasthan

ii. It is performed to worship Goddess Saraswati

YR ofcd D Jcd dl forolfciRad dwerell R rIR ©3
i. UE ISl D e Sorsiid SRI R v uRufs® did o &
ii. s gl IrTacdl &t ysn war @ fore fovan s 3|

[Question ID = 5282]
1. Only (i) is true / @qe (i) 3= 3

[Option ID = 21122]

2. Only (ii) is true / daet (ii) A= 3
[Option ID = 21123]

3. Both are true / Gl 3 &

[Option ID = 21124]
4. Neither (i) nor (ii) is true / o a (i) s o & (ii) A= S

[Option ID = 21125]

Correct Answer :-
e Both are true / @il 3 3
[Option ID = 21124]

47) Which of the following is not a stringed musical instrument?

forgatferi¥aa 3 1 Plel AT Up AR eIl arel e o1él 37
[Question ID = 5283]

. Santoor / iz [Option ID = 21126]

. Violin / ariferer [Option ID = 21127]

. Cymbal / =izt [Option ID = 21128]

. Banjolin / &sit [Option ID = 21129]

A wWw N -

Correct Answer :-
e Cymbal / =1ist [Option ID = 21128]

48) Which of the following statement is false regarding Pattachitra?

gl & e 3 forarfciRaa 3 A Plol AT DA el 8?7

[Question ID = 5284]

. Itis a traditional painting of Odisha / @& 3iif$en &t v uruf¥a Ufdst 8 [Option ID = 21130]

. The theme of this painting centres around the Jagannath and Vaishnava sect. / s tfésr @i fawrr Sereorer ik dwra 2iyerr 3 [Option ID = 21131]
. Traditionally it was done by the female members of the household / wwpIA ¥u 3 6 T2 & Afden Al gRI Folrs Siedt eff [Option ID = 21132]

. Painters use natural colours only / RiqorR grofeie i @I &t 3wiler w2 & [Option ID = 21133]

A W N -

Correct Answer :-
e Traditionally it was done by the female members of the household / wWwREK ¥u A a6 @2 &t #Afdel Al gRI doirs it eff [Option ID = 21132]

49) Which of the following temple is wrongly matched with the state?



I » FitstRanker.comi" "

I_ 2 qéir'ﬁrm Hwbgw‘ﬁmatﬁaﬁz - 3rgs [Option ID = 21134]
2. Chamunda Devi Temple - Himachal Pradesh / argjst adi ¥y Whrkei 18t Rankie F.oioam www.FirstRanker.com
3. Amba Mata Temple - Gujarat / afar a1 sifé2 - srIa [Option ID = 21136]
4. Maa Jwala Ji Temple - Haryana / aif saren sft @iféz - sf¥emn [Option ID = 21137]

Correct Answer :-
® Maa Jwala Ji Temple - Haryana / i Saren Sit siféz - af¥emon [Option ID = 21137]

50) This town is a designated World heritage Site and it hosts the tomb of Salim Chisti. It is -

s 9182 uep foifdee fara frrIa erar 8 3l 321 9182 3 wcliar Rioeht o1 DT 3|
[Question ID = 5286]

Ajmer / sw@ [Option ID = 21138]

Fatepur Sikri / wasyz i3t [Option ID = 21139]

Agra / smerr [Option ID = 21140]

Lucknow / eraerss [Option ID = 21141]

A wWw N =

Correct Answer :-
e Fatepur Sikri / wasyz M3t [Option ID = 21139]

51) Find the odd one out

e &1 TR B2

[Question ID = 5287]

Hazrat Nizamuddin Auliya / asra fesmeler siifern [Option ID = 21142]
Guru Nanak / 35 ot [Option ID = 21143]

Raja Ram Mohan Roy / 3reir et sitget 2RI [Option ID = 21144]

Meera Bai / 3t ar$ [Option ID = 21145]

A w N =

Correct Answer :-
e Raja Ram Mohan Roy / rerr 31 siiget 2RI [Option ID = 21144]

52) The first Indian to win an Academy Award is -

3pIGHl YFpR Sfidol arel uscl HReRI & -
[Question ID = 5288]

1. A. R. Rahman / © 3 3&amet [Option ID = 21146]
2. Satyajit Ray / siemsiia 3 [Option ID = 21147]

3. Bhanu Athaiya / smg] 31z [Option ID = 21148]
4. Rasul Pookutty / ¥3je1 yaet [Option ID = 21149]

Correct Answer :-
e Bhanu Athaiya / amre] st [Option ID = 21148]

53) Which of the following is not a literary award?

forgatferiRaa 4 A ®lel A1 Affead groR & 8?7

[Question ID = 5289]

Jnanpith Award / sierdis geeer [Option ID = 21150]

Ananda Puraskar / 3ieic gue®R [Option ID = 21151]

Sahitya Akademi / 2nféer sipresft [Option ID = 21152]

Shanti Swarup Bhatnagar Award / 9Iifef ¥au sicoirR geer [Option ID = 21153]

A w N =

Correct Answer :-
e Shanti Swarup Bhatnagar Award / iifef 3a%u sicelPR gReaprR [Option ID = 21153]

54) Which committee recommended the inclusion of the Fundamental duties in the Indian constitution?

o1 Afdifer of siRcila 2ifderne 3 FHifcrd Dol ®I 9nfdrer ol b Rrwiieer &Hi?
[Question ID = 5290]

Puncchi committee / ggt afdifer [Option ID = 21154]

Swaran Singh committee / >quf RBis Aféifer [Option ID = 21155]

Lodha Committee / clier wfaifer [Option ID = 21156]

Mandal Committee / @iser Jfdifer [Option ID = 21157]

A wWw N -

Correct Answer :-
e Swaran Singh committee / Fauf RBis fd#ifer [Option ID = 21155]

55) Article 15 of the Indian Constitution ensures - )
www.FirstRanker.com
HR¢IRI JAfderst o sioess 15 Jfoiaa war 3 -



';:ZFjrgmwkﬁrecmMﬁzmmﬁmm@ [Option ID = 21158]

jon ID = 21159]

Freedo tSpe andexpresswn/ sz sifdreates Gpgigy PSRBT EPICcOmM www.FirstRanker.com

4 Right to justice / oumrr @ siffierz [Option ID = 21161]

Correct Answer :-
e Social equality and equal access to public areas / Jmwnfors WGl 32 Ardsiford &) 3t cleiiht Iwiel uga [Option ID = 21158]

56) If a state government passes a resolution in the assembly without consulting the Governor, the Governor can -

i DS I DR frenernn 3 Isrurd &t Acne D Yol DI graa arfed il 3, dl AsAurd -

[Question ID = 5292]
1. Dissolve the government / 3@ @l $ieT B2 b 3|

[Option ID = 21162]
2. Recommend the centre to impose the President’s rule in the state / =1 3 2recufer omRiel IOl @ fore W 3 Biwifar w2 Jad 3|

[Option ID = 21163]
3. Reject the resolution / gz @ sdidwrR @2 A@wd 3|

[Option ID = 21164]
4. None of these / st 3 @IS oft ordt

[Option ID = 21165]

Correct Answer :-
® None of these / soii 31 ®Is ot a8t

[Option ID = 21165]

57) The Right to Know in India is-

RA 3 SIielol @I IfAIPR 3 _

[Question ID = 5294]

1. Unlimited / sriifier [Option ID = 21170]
2. Unparalleled / aifgetr [Option ID = 21171]
3. Absolute / arffirr [Option ID = 21172]

4. Limited / 3fifér@ [Option ID = 21173]

Correct Answer :-
e Limited / 3fifdr [Option ID = 21173]

58) Mass communication gets filtered by

AT HAR DY ____ gRI fbeez fopan sirer 3
[Question ID = 5295]

. Audience / sofe [Option ID = 21174]

. Media / #fifgar [Option ID = 21175]

. Gatekeepers / dedbiuz [Option ID = 21176]

. Encoders / werarsz [Option ID = 21177]

A wWw N =

Correct Answer :-
o Gatekeepers / dedbiuz [Option ID = 21176]

59) Which of the following is not a newspaper/magazine?

forgotferRaa & A Bletl AT AR Uq/afer o1t 37
[Question ID = 5296]

. Guardian / sufSwer [Option ID = 21178]

. Washington Post / aifdisreat uize [Option ID = 21179]
. Backstage / dwzest [Option ID = 21180]

. The economist / &t s@lsiffare [Option ID = 21181]

AW N =

Correct Answer :-
® Backstage / st [Option ID = 21180]

60) The latest Indian journalist who was awarded the Ramon Magsaysay award is

36l AU YRIDR A AAIoId olfdoIad HRARI UgdR 3
[Question ID = 5297]
Kuldeep Nayyar / @erciu sizrz [Option ID = 21182]

Ravish Kumar / dier ggoire [Option ID = 21183] www.FirstRanker.com
Raj Kamal Jha / 3t @tet s [Option ID = 21184]

Sudhir Chaudhary / iz dtest [Option ID = 21185]

A w N =
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61) A person who does not post messages but r\é\é\éévyvhlgl:rcﬁgg?'un%rb%%rr\n online discﬂygr%c@rr igli?aaeﬂti lerd %9 m

U b Sil ST oldl ASIATS cifdbol 3ie¥ difolcirsal Tl |l Uz o 31U deicil ol UGdr 3, WA Iftb DI Dal ST 5_
[Question ID = 5298]

Lurker / gasz [Option ID = 21186]

Silent participant / s gferemsft [Option ID = 21187]

Jabber / Sz [Option ID = 21188]

Sleeper-chatter / cfiuz-dez [Option ID = 21189]

A W N -

Correct Answer :-
e Lurker / gdsz [Option ID = 21186]

62) Direct mail advertising is often referred to as

geael et fasaet al 3aa? el Sl 3
[Question ID = 5299]

1. Personal selling / =ifepera Afeeist [Option ID = 21190]
2. Mail order / & amgz [Option ID = 21191]

3. Junk mail / S et [Option ID = 21192]

4. Postal advertising / s fasmuet [Option ID = 21193]

Correct Answer :-

® Junk mail / Sies diet [Option ID = 21192]

63) The present ages of Suraj, Nikhil & Aditya are in the proportion of 4: 7: 9. If the sum of their ages was 56, eight years
ago, find their present ages

331, foildaet siik snfeer bl ardarret 3Ry 4: 7: 9 @ srgqurd 3 3 Afe 316 ATl Usel Joichl 33 DI el AT 56 T, €l IoId deldlol 3R S D3I
[Question ID = 5300]

12, 24, 32 [Option ID = 21194]

16, 28, 36 [Option ID = 21195]

08, 20, 28 [Option ID = 21196]

14, 22, 30 [Option ID = 21197]

A WN -

Correct Answer :-

e 16, 28, 36 [Option ID = 21195]

64) A bike covers its journey at the speed of 80km/hr in 10hours. If the same distance is to be covered in 4 hours, how
much increase of speed is required for the bike?

up ars 10hours 3 80 fopafl/der bt sifer A srueil Ay gt o=l 3 Al Frerer gfl DI 4 ©ie 3 T Dol 31, dl NSt bl sIfer Bl fperon iz
SGIoIT TA9AD 37

[Question ID = 5301]

1. 90km/hr / 90km/zict [Option ID = 21198]

2. 100km/hr / 100 fopeft/ et [Option ID = 21199]

3. 80km/hr / 80 fapaft/ier [Option ID = 21200]

4. 120km/hr / 120 feft/set [Option ID = 21201]

Correct Answer :-

e 120km/hr / 120 fpeft/ et [Option ID = 21201]

65) In an assembly line, Raju is 7th from the left and Sujoy is 9th from the right. Both of them interchange their positions
and thus Raju becomes 11th from the left. How many students are there in the assembly line?

uep 3Riacht arser 3, AL ars 3R A 7 d 3R Poifar o1 3k A 9 d Terer uz E <lell of srucil Rerfer oot ager ferm sz se I g sk A 11 &
FeTel UR 31 SRI 3Ridcll sl 3 @l fobaal 81 37

[Question ID = 5302]

21 [Option ID = 21202]

20 [Option ID = 21203]

19 [Option ID = 21204]

18 [Option ID = 21205]

1.
2.
3.
4.

Correct Answer :-
e 19 [Option ID = 21204]

v BIs s 3, COULD @t BNTKC @ wu 3t fere sV BHST BARKRBIMNG o a3 frzar stroom?
[Question ID = 5303]



»:FifgtR&hker.com
i Chinsiankeh ag hoice

Correct Answer :-
o |NTKCHMF [Option ID = 21208]

www.FirstRanker.com www.FirstRanker.com

67) Joy, Grace, Stephen and Miller are playing cards. Joy and Grace are partners. Miller faces towards North. If Joy faces
towards West, then who faces towards South?

Sifer, 3)3, FEwet iR freR a191 Wt B & Sif 31 3)A ARIGR & BierR &1 I IR &bl ik & Afe St &1 ga ufker 6l ik 3, aY sféror & s
fepareoT Jza 3?7

[Question ID = 5304]

1. Grace / 3 [Option ID = 21210]

2. Stephen / ¥wer [Option ID = 21211]

3. Joy / siir [Option ID = 21212]

4. Miller / frere [Option ID = 21213]

Correct Answer :-

e Stephen / ¥wat [Option ID = 21211]

68) Anu walks 4 km towards west, then turns to her right to travel 9 km. She turns towards east and travels 12 km. Finally,
she travels 3 km towards south. What is the minimum distance between the starting point and the end point (in km)?

310], U243 DI 31k 4 fpeil <reredl 3, b 9 fepall DI AT Dol D fé18 3ol 15 3R P3 SNl 3 a6 gd DI 3R il 3 3R 12 ol bl arey il &
3id 3, ge cfdor &bf 3R 3 Pt DI Ay Dxdl 3 AT YRt vd sifeEr f&g (ot 3) D Sia ogetasr g3l o= 87

[Question ID = 5305]

1. 18 [Option ID = 21214]

2. 10 [Option ID = 21215]

3. 12 [Option ID = 21216]

4. 14 [Option ID = 21217]

Correct Answer :-
e 10 [Option ID = 21215]

69) Choose the correct option to complete the number series 196 : 256 :: 324 :

AR YFCT DI G Dol D fere dl Rveu gol 196: 256 :: 324:
[Question ID = 5306]

400 [Option ID = 21218]

484 [Option ID = 21219]

361 [Option ID = 21220]

441 [Option ID = 21221]

A W N -

Correct Answer :-
e 400 [Option ID = 21218]

70) If Monday fell on 20t March, 1995, what was the day on 3"4 November, 1989?

Afe 20 aArd, 1995 &l AeEar a1, a1 3 sdeaz, 1989 @I et 1 3ot ar?
[Question ID = 5307]

1. Thursday / spsar [Option ID = 21222]

2. Sunday / fdar [Option ID = 21223]

3. Friday / grmar [Option ID = 21224]

4. Saturday / erforar [Option ID = 21225]

Correct Answer :-

® Friday / gmar [Option ID = 21224]

71) Among the following propositions, two are related in such a way that they cannot both be true but can both be false.
Select the code that state those two propositions.

fogsiferRaa garae 3 3, <1 31 M A Adlda 3 b d A6l A o8l A AP 3 Aifbol Slell 3RIAT 3l ADA 3 I DIS DI <RIl D3 Sl 3ol 3l
YdIdolI3il Pl TRIel B2

i. Every student is attentive. / & o dioa 8

ii. Some students are attentive. / ©® @ di®wa 3

iii. Students are never attentive. / a1 @i diwA oidl B
iv. Some students are not attentive / @& @ diwa bl T

[Question ID = 5308] www.FirstRanker.com
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Correct Answer :-
e Only i and iii / @aec i siiz iii [Option ID = 21227]

72) At what time between 3 and 4 O’clock will the hands of a watch point in opposite directions?

3 A 4 go1 @ dia A PRI 8t D el i faudia fomnsii 3 fxars =i?
[Question ID = 5309]

. 40 minutes past three / et a2 40 fiere [Option ID = 21230]

. 45 minutes past three / diet ssr2 45 fere [Option ID = 21231]

. 50 minutes past three / dior asta2 50 fere [Option ID = 21232]

. 55 minutes past three / dior astas2 55 féeie [Option ID = 21233]

A WN -

Correct Answer :-

® 50 minutes past three / dior astasz 50 féeie [Option ID = 21232]

73) Amyra is a student journalist who has spent weeks gathering information on changes in school admissions. She has
interview transcripts of teachers, students, government officials and data on admission procedures. Which of the following
steps is the most important for her to take first in organising and synthesising the information for the story?

3PIRRI TP B UdDR 3, [RI6el @l ydl 3 dcelid @ dR 3 SIGIPRI $gl Pl d P$ AdB [, 33D urd 3181pl, B1ql, IRPRI el
@ AEcPIR 3i1? Ja9r YfpRinaii a1 3cI & Paloll d feIu SicIdprl &l Raf¥erd 3R S ta wol 3 33D faru fogafciRaa 3 21 dla 1 dbea ASRA
Hscayui 37

[Question ID = 5310]
1. Evaluate the credibility of information received. / gra Sier®R! &l fdeaieiierar @1 Jcidot

[Option ID = 21234]
2. Choosing the most impactful quotes to make her story complete / @arsft @1 guf goiror @ fere Jaffeies Yamasnett weret w1 goird |

[Option ID = 21235]
3. Summarising her findings and submitting it to the editor for earlier approval. / smer forseut @1 ARIIT ol 3iR 3 Yd opilGel B 18 AUIGH BI YA Dol

[Option ID = 21236]
4. Decide on the story’s focus and its primary points to be put across to the readers and then create an outline to support those points / @waroft @ wias1
3l 3AD YrIfdre feigsil ® uroml ad ugdrol ®I forvir clom 3ii2 bz 3o figsil & Aeeler w2l B fee v Fuar ai fowifur wor |

[Option ID = 21237]

Correct Answer :-
e Decide on the story’s focus and its primary points to be put across to the readers and then create an outline to support those points / @smwft @ wlwa
3R 3D Yrefdrep Rigaill oI uredl dd ugdre! a1 ok clon i fibe 3ot figall @ wieler B2l B ferw vp Fudzn @1 fowifur det |

[Option ID = 21237]
74) You are a class teacher. Some parents who missed the last Parents-Teachers Meeting come by your office and request
you to brief them about their children’s progress. You already have a prior school management committee meeting
scheduled. You will -

3IU Ueh eIl HEAUD & B8 ArdI-fUar sit el arar-fiar-91gre Sod oiél s A &, d U BRIfeRI 3 31d 3 3R 3MUR] Ield> Fdl bl yoifer
@D R 3 SIGIPRI Sol @I 3ol @ 3 34 yd-forerfiya feremer gyaerst fdifer &I dow 3 siRe 3 | ama -

[Question ID = 5311]

. Ask them to come some other day / 358 fdb2ft g3 fSot 3mal ® fére @wdst  [Option ID = 21238]

. Brief them immediately / 358 g3a @t ifém smerrt 3331 [Option ID = 21239]

. Tell them to come for the next PTM / 363 3wIct didiua 3 simol @ fere wa [Option ID = 21240]

. Ask them to wait for you while you finish your meeting. / 38 afifés1 3w Slot am ydien ool @ fore wdst [Option ID = 21241]

A WN =

Correct Answer :-

e Ask them to wait for you while you finish your meeting. / 38 #fifésr 3@ Slol de yeiten w01 d fere wasr [Option ID = 21241]

75) Your classmate confided that he has been having thoughts of harming himself. He does not have a good relationship
with his parents and has forbidden you to tell them about his thoughts. Your school has no counsellors to confide in. You -

3IIUD ABUIS] of IARI fob a8 G DI ofATel Ugdlol @ dR A AR VI & IAD 3ol AAI-TOAT D AT 3RS A o181 3 Aol 3R MUDI 31Ul 68
3ol foaRl @ a1 3 Jddrol A Holl fopr 3 3MUD Fel A IRAD] DISALRIDT D feTe PIS DISACR o1dl & 31U -

[Question ID = 5312]

1. Agree not to tell his parents as he may get offended / 3mu 3@ s11ar-fiar ol ot aam@ iifds 33 g1 ol Abar & [Option ID = 21242]

oo TS T OTero D01

v Pa ot W ott owtede CD- oI I Tt 1T CD1 Or St or o

ID = 21243]
3. Tell his parents but apologise to your friend for having W W JEbiStIR @i & u GO weet & e awet fig 31 gom aisist [Option ID = 21244]
4. Don’t do anything. Your friend may be faking it / 3mu @@ sft oiét B3I s FeId2 DBt Bt MUt P TR S[¢ of B T al, MU BB ot ot w1 [Option ID =

21245]



=I I. \15£aren utta ﬁ)glase nygfnend lFOQavmg ]one SO / 3AD AMI-fUAT DI IAIE clfcbol VAT Dol D ferw sl f3g 3 g sl [Option ID = 21244]

irstranker s cholce ..
www.FirstRanker.com www.FirstRanker.com
76) A student from Russia took a mid-year admission in your school and he joined your class in 6th standard. You saw some

of your classmates talking and making fun of his language. Seeing this you -

%3 D TP B of AUD Fdel 3 adf D AR I BST gl 3 SIi¥daetl ferRIr UGl 3Uol ©F ABUISI DI IAD 1A 3Usil HINI I dId D 3ii?
IADI HASIDB ISHA ST A SIADR MU -

[Question ID = 5313]

Confronted your classmates / 3ol JauifeRil 31 3831 @31 [Option ID = 21246]

Kept quiet as your classmates will bully you too / @ eI qu 383t &t @él 3mud JFsuIst 3! 9ff 36D of 3sal 1 [Option ID = 21247]

Informed your teacher / smot {181 @1 JJRIa @t [Option ID = 21248]

Informed your parents / ot sier-fidr @t IJferd @t [Option ID = 21249]

A W N -

Correct Answer :-

e Informed your teacher / 3ol {9181 @l Jyferd @3t [Option ID = 21248]

77) You are the class representative of your batch. You got to hear from your friends that they are planning to go on a
strike to demand lesser workload. You will -

3ITU 310l Ja @ el Yferferf?r 3 smued 36t Sl A Jolol @I fretl i A BT D dIsT DI BH B B 1Y F3dIT WR Sirel Bt ASIoll doll B 3

Mg -

[Question ID = 5314]

1. Be part of the strike as you are also an important stakeholder / @sdict @1 &1 @oldl aRiifes amu sft v araayyf sist & [Option ID = 21250]

2. Don’t do anything as you do not agree with the strike in principle but also do not want to be on the wrong side of your classmates / @ sl o1 &3 aiifes
3 A Giferes U 3 ESIeT I A oIl 2, 32 3ol JBUIfSAl B el uel @i oft mwrefet a1dt [Option ID = 21251]

3. Inform your teachers / smel {3181t @l JRa@®t [Option ID = 21252]

4. Take up the role of mediating between the students and teachers / siqi 3ii2 fS1s1pi @ dfa #ewReEr 6t gfdimr formdst [Option ID = 21253]

Correct Answer :-
e Inform your teachers / 3mol fog1m! @I g @l [Option ID = 21252]

78) Which of the following is not a monocular cue?

forgotfcii¥ad 3 A Dlol Wb TDDIAD a3 ofdl 37
[Question ID = 5315]

. Interposition / giuw [Option ID = 21254]

. Aerial perspective / uf¥@rer ftepiur [Option ID = 21255]
. Lights and shadows / J9ft siiz @rm [Option ID = 21256]
. Convergence / @weasta [Option ID = 21257]

A W N -

Correct Answer :-
® Lights and shadows / 9wt 3iiz @rir [Option ID = 21256]

79) Which of the following statement is not an element of Theory of Needs?

forgotferRaa A A dlol AT Derol 2N 3w oftga T dca ol 37

[Question ID = 5316]

1. Human beings are motivated by a hierarchy of needs / s3rer SRl @ ucTojadt 3 YR¥a alar 3 [Option ID = 21258]

2. One can also move to a higher level of need without satisfying a lower order need / forerct @t & smageicbamsif @I g1 fbu ol R sragaddl & 3o IR B
oft o arper & [Option 1D = 21259]

3. Once a need is satisfied, it does not motivate / S g3t @l Sieol w2 as Y3 oidt @it & [Option ID = 21260]

4. As one need is satisfied, another replaces it / 331 vep sreaa g3l Bl 3, A Rl Sea 3wt el o odl & [Option ID = 21261]

Correct Answer :-
e One can also move to a higher level of need without satisfying a lower order need / forarct @t & smagpaif I g1 fbu el A sragaddl @ 3o IR B
oft o arper & [Option ID = 21259]

80) Which of the following is not a developmental disorder?

forgaiferiRaa 3 3 dlel AT U [IPRIcHD fdDdR orél 3?7
[Question ID = 5317]
. Asperger Syndrome / weusk RBegiat [Option ID = 21262]
. Intellectual Disabilities / difga faactisr [Option ID = 21263]
. Generalized Anxiety Disorder / Jmmeilapa Riar fawr [Option ID = 21264]
. Dysgraphia / f&3mpftserr [Option ID = 21265]

AWN—\

Correct Answer :-
e Generalized Anxiety Disorder / JmneRflaxa Riar fdar [Option ID = 21264]

81) Which of the following is not a characteristiv\wi\ fsyrsilRatakestcom
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I_ mlFtiFsgﬁsamwbgi@h@E@ag—dmaﬂsm Elﬁﬁﬂ_ﬂ]i%ﬁ [Option ID = 21266] )
2. Test must be reliable / 2% frazrefts glon anfe [Option IDVWWZFIrStRanker.com www.FirstRanker.com

3. Test must be valid / e3¢ s1ee dlen @nfde [Option ID = 21268]
4. Test must have norms / 23c 3 sireics ot anfaw [Option ID = 21269]

Correct Answer :-
® Test must assess total behaviour / 23c @I @el RIABR P 3ibclol B2l dafew [Option ID = 21266]

82) Consider the following statements about coronavirus
Statement I: The COVID - 19 was first reported from Wuhan, China
Statement II: The virus is genetically related to the coronavirus responsible for the SARS outbreak of 2003

In light of the above statements, choose the most appropriate answer from the options given below

DRIGIIARRA D aR A forgoifciRaa swerEl ur far o3
i. COVID - 19 @I usct garal, il A eUlé [pan s oar
ii. arRRA 3regdfdrd wu A 2003 @ TATIREA Ydlu & fore SEAcr DRIGIARRA A Adfed 8

[Question ID = 5320]
1. Only | is correct / @aet i 3@t &

[Option ID = 21274]
2. Only Il is correct / @aet ii a&t @
[Option ID = 21275]
3. Both statement | and Il are correct / i 3fiz ii Gloil 3 &

[Option ID = 21276]
4. Neither statement | nor Il is correct / ot at i afiz o & ii & 3

[Option ID = 21277]

Correct Answer :-
e Both statement | and Il are correct / i 3iiz ii Gloil 2@ &
[Option ID = 21276]

83) Which of the following sportsperson is incorrectly matched with his/her sporting event?

forgetfeiRaa af A fopar Racirst @1 SAD W @ ATl slcid adid A ek srm 3?7

[Question ID = 5321]

1. Kobe Bryant - Basketball / @1 gric - ardedic [Option ID = 21278]
2. Leander Paes - Tennis / fergss &1 - 2fort [Option ID = 21279]

3. Sofia Kenin - Badminton / iifteerr @fotet - dsfiicat [Option ID = 21280]
4. Rory Mcllroy - Golf / 33t Fiaerie - sitew [Option ID = 21281]

Correct Answer :-
e Sofia Kenin - Badminton / ifteenr @foter - dsfdicar [Option ID = 21280]

84) Which of the following statement is not true with regard to the Dadasaheb Phalke Awards?

SIGI ATsd GBIcd YRFPRI @ Hder 3 forgorferRad # A wlol AT Beret A& o1dl 37

[Question ID = 5322]
1. It is the second highest award given to recognise the contributions of film personalities towards the development of Indian Cinema / w8 sk Brolen
@ fqprRI D yfer fbcaft sRRI @ AeIcTel Bl AGRIAl Sol & ferw f&R Stot arelr GrI dica RIBR 8

[Option ID = 21282]
2. The recipient is awarded with ‘Golden Lotus Award.’ / yreasaf @1 ‘Faul waet 3idrs gRI Aol b S 8

[Option ID = 21283]
3. It was awarded to Amitabh Bachchan for the year 2018 / 2018 @ fere 3ifdrmt accol P A YRIDR A AR I SRI

[Option ID = 21284]
4. The first recipient of this award was Devika Rani / 31 gee@R &t uscl fasar St 2oft off

[Option ID = 21285]

Correct Answer :-

e |t is the second highest award given to recognise the cWi_qnj pé@Raﬁ*@@H_t@bmards the development of Indian Cinema / @ stetizr Rroen
@D Rt @ yfer fbcaft sl @ AdIcTor DY HGIAT Sol @ forw fE=Im Sirot arelr GRT Jdicd YIFdR 3

[Option ID = 21282]
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[Question ID = 5323]
1. Universal Product Code / gforazfet 3curs @ts [Option ID = 21286]
2. Magnetic Ink Character Recognition Code / dudbrr Fumel af¥q aeerar @is [Option ID = 21287]
3. Scanners / ¥®ort [Option ID = 21288]
4. Solar Technology / 3tz gienf3rbt [Option ID = 21289]

Correct Answer :-
e Universal Product Code / 3ferazifet 3curg @rs [Option ID = 21286]

86) The first Chief of Defence Staff (CDS), India is -

3R DI Uscll A6 3iie 3wAa yerw (CDS), 3 -

[Question ID = 5324]

. General Manoj Mukund Naravane / SioRet #oitsl 36 oRarol [Option ID = 21290]
. General Bipin Rawat / Sioret f&ifter 2@ [Option ID = 21291]

. Admiral Karambir Singh / wsfirer oz Bis [Option ID = 21292]

. Rakesh Kumar Singh Bhadauria / e @R Ris sicif¥=n [Option ID = 21293]

A wWN =

Correct Answer :-
® General Bipin Rawat / Siorer ffder 21aa [Option ID = 21291]

87) Bharatvaani, an online portal launched by Union Ministry of Human Resource Development is -

DERT FreTd IHAMered PRI HGICRI SR 9% {61 sRI Uap sifetensal Uidel “sraantt” 3 -

[Question ID = 5325]
1. A digital audio broadcast for All India Radio / aifet sfEar 3= & fere vep f3foreet siffS:i y2mor

[Option ID = 21294]
2. An online music learning Platform for remote areas / gz 8idi 3 380l drell @ fe1w v Jifoletsol Aol Aol I i

[Option ID = 21295]
3. A multilingual knowledge portal / v agsmdt sirer dider

[Option ID = 21296]
4. A digital repository of history of India / siea @ sfisrRI @1 v e s

[Option ID = 21297]
Correct Answer :-
e A multilingual knowledge portal / v agsmdt srer dider

[Option ID = 21296]

88) Samsung recently launched ‘Neon’, which is -

Jarzior of 31T & A 'foriiel’ @Y cifoa fopam 3, S 3 -

[Question ID = 5326]
1. A cloud computing technology / @cli3s ®wfest ddolis

[Option ID = 21298]
2. A portable super computer / v®b Uléde Ju2 BRIC

[Option ID = 21299]
3. An Al-powered virtual being that looks and behaves like human beings. / v Al- b adaicl so2irel Sit $é1el B R G & 3R RMAER B 3

[Option ID = 21300]
4. A virtual assistant for Samsung refrigerator / 3ol 3ipRc: & o vd MR FerRID

[Option ID = 21301]
Correct Answer :-
® An Al-powered virtual being that looks and behaves like human beings. / w@ Al- e adqaiet so2imel Sit $Iel 61 W6 G & 3R RIAER B &

[Option ID = 21300]

diociico 182871 B7a B¢ »3 (= 9 L8 Fofw | B

[Question ID = 5327]

www.FirstRanker.com
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. Shah la, N Ri / , ofs f&eeft [Option ID = 21304]
' M!”i”?*ﬁmﬁm éagﬁﬁf : mg%%ﬁ????ﬂﬂ&’rﬂ%&%om www.FirstRanker.com

Correct Answer :-
e Eden Gardens, Kolkata / $sol snsel, letarar [Option ID = 21302]

90) The first Khelo India University Games, 2020 was held at -

uscl Fell i3 Aforal¥fét re=1, 2020 mifSra s sr -

[Question ID = 5328]

1. Aizawl, Mizoram / smssilc, foshen
[Option ID = 21306]

2. Cuttack, Odisha / @cwm, snfSer
[Option ID = 21307]

3. Nagpur, Maharashtra / sIPIg2, @RI

[Option ID = 21308]
4. New Delhi, India / & fectt, smea

[Option ID = 21309]

Correct Answer :-
e Cuttack, Odisha / @wew, sifSon
[Option ID = 21307]

91) After the scrapping of Article 370, how many Union Territories are there in India now?

et 370 & e dlol D dIc, 31 HRA 3 3| Gl febelol g onlra ygor 37
[Question ID = 5329]

1. 7 [Option ID = 21310]

2. 8 [Option ID = 21311]

3. 9 [Option ID = 21312]

4. 10 [Option ID = 21313]

Correct Answer :-
e 3 [Option ID = 21311]

92) The year 2020 has been declared by the World Health Organisation as the year of -

faea Farre Fs1odl gRI ad 2020 o foba ad @ u 3 aiftra fosen srm 3 ?

[Question ID = 5330]
1. Universal Health Coverage: everyone, everywhere / fsrazici dcel wadsl: &2 IS, &2 SPIB

[Option ID = 21314]
2. Nurses and Midwife / orf 3ii2 a8
[Option ID = 21315]
3. Visionary Women: Champions of Peace and Nonviolence / ggaoff aiféen: grifer aiiz aifdan @ dfterer

[Option ID = 21316]
4. None of these / sori 31 @IS oft ordt

[Option ID = 21317]

Correct Answer :-
e Nurses and Midwife / orf 3z o
[Option ID = 21315]
93) By stating that “section 144 cannot be used to prevent exercise of democratic rights”, the Supreme Court of India is
trying to protect the -

6 Pad gu [ “emrr 144 oI IURIFI dlpdifdd PRI & geT @I Adel @ fé1u ol fopn ST Awar 3”7, sRA @I Adica IRICRI b iferer
I 21T Dol DI DIIIT B2 BT 3 -

[Question ID = 5331]

Right to vote / a dat @ siffiprz [Option ID = 21318]

Right to protest / faRter @2ar @t sifeprz [Option ID = 21319]

Right to equality / Jrerar @ siférprz [Option ID = 21320]

Right t tituti l dy / idenfors 3uary e [Opti D= 1
181 To constutionat remecy e WAV FrrstRahker.com

A W N =

Correct Answer :-
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I_ difij Rativeapidleurichel thig first ‘Fruit Train’ in January 2020. This train will transit between -
www.FirstRanker.com www.FirstRanker.com
Rl ¥c1d of Storadt 2020 3 usell “w egor” 9Rs bl As ol ____ D ofia I acef?
[Question ID = 5332]
1. Anantpur in Andhra Pradesh and Mumbai’s Jawaharlal Nehru Port. / siig[ ygor @t sieiayz 3l das @I Siarselie olg uld [Option ID = 21322]
2. Nagpur Railway Station to New Delhi Railway Station / smeIgz 3er 3eorel 3 of foeeft Je1d 3¢9t [Option ID = 21323]
3. Kulu in Himachal Pradesh to New Delhi Railway Station / et ygor 3t @eey 3 o f&eeit Ierd 3ol ad [Option ID = 21324]
4. New Delhi Railway Station to Mundra Port in Gujarat / o f&eeft 3e/ 3eoret 3 SRIA 3 Fjgr Ui a [Option ID = 21325]

Correct Answer :-
e Anantpur in Andhra Pradesh and Mumbai’s Jawaharlal Nehru Port. / 3fig] ycer oI 3foidyg2 3R #as dI SIaselle olgx Wi¢ [Option ID = 21322]

95) 2019 Nobel prize for Economic Sciences was awarded to -

2019 3mef forsiror @ fre olidel yropR A AFaiford e srr -

[Question ID = 5333]

. Abhijit Banerjee, Esther Duflo and Michael Kremer / sifdsfia Jorsff, vecik suel 3iiz ssdmer @ #2[Option ID = 21326]
. Abhijit Banerjee, Esther Duflo and Paul Krugman / sifdsfia Sorsff, ez guell ik diet @y st Option ID = 21327]

. Abhijit Banerjee, Esther Duflo and Jim Peebles / sifdiia gorsil, veer suel sl 5wt dige=t [Option ID = 21328]

. Abhijit Banerjee, Paul Romer and William Nordhaus / siférsfia geroff, dict 3912 siiz fafermr oiisa [Option ID = 21329]

A W N -

Correct Answer :-
e Abhijit Banerjee, Esther Duflo and Michael Kremer / sifdrsfia doroff, vz sucil siiz asme @#2[Option ID = 21326]

96) Which of the following is/are true about the movie ‘Parasite’?'
I. It is the first non-english movie to win Oscar for best picture

II. It won 4 Oscars in the 92™ Academy Awards 2020/

III. It's a chinese movie

Choose the correct answer from the options given below:

fioca "MerRIse’ @ an 3 fosifciRaa 3 A wlol AT D I /8?7

i. uE Adro siazredRa biar fisca d> forg sifzm2 Siidol arcil uscil 3i-3id)sil fbcar 3
ii. 310l 92 d srprcalt yreRr 2020 3 A« sifere sifvas Sfia

iii. @& <fiofl st 3 woll fbcar 3

[Question ID = 5334]
1. only | / oaet i

[Option ID = 21330]
2. only | and Il / e i aiie i

[Option ID = 21331]
3. only I and Ill / daer i 3z i

[Option ID = 21332]
4. 1, 1land 1Nl / 1, ii o i

[Option ID = 21333]
Correct Answer :-
e only |l and Il / ®aet i 3iiz ii
[Option ID = 21331]

97) Match the following lakes with their basic features and choose the correct option

forgotferRae sficil @l Iorcbl et fadraensii A f3remd siiz A8t faraseu gol

List | List 11

A, Loktak Lake l. Longest lake in India

E. Chilika | ake || Brackish water lagoon

CoWembanad Lakellll.Lake of flowers www.FirstRanker.com
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A, STl el | HRd A Hay el T

B. FerfeesT et | R U ST AT

C. dTE Fel || Tt B e

D. TEHL G I TR T el UTeh

[Question ID = 11221]

1. A-1I,B-1l,C-1,D-IV[Option ID = 44878]
2. A-1IV,B-1Il,C-1,D- Il [Option ID = 44879]
3. A-I,B-1l,C-1ll, D -1V [Option ID = 44880]
4. A-1I,B-1V,C-1,D-Il[Option ID = 44881]

Correct Answer :-
e A-IV,B-1l,C-1,D-Ill [Option ID = 44879]

98) Match the following person with their party affiliation

List | List 1l

A WL N, Roy l. Communist Party of India

B.W. C. Banrerjee|ll. Swaraj Party

. hotilal Mehrullll, Indian Mational Congress

List | List Il

ATH T || YR SR Ol

B. Seeg Hl, I 111, IS U

C. AT 6% 11, MR AT @i

[Question ID = 11222]

1. A-1,B-1ll, C - Il [Option ID = 44882]
2. A-1,B-1l, C-1ll [Option ID = 44883]
3. A-1lll, B-1lI, C-1[Option ID = 44884]
4. A-1I,B -1, C-Il[Option ID = 44885]

Correct Answer :-
e A-1,B-Ill, C-Il[Option ID = 44882]

99)
List | List Il
A, Perpetual peace | Plata
B Golden bdean I Kant

C. Analogy of the cave  [lIl. Aristotle www.FirstRanker.com
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A, G4 20T I el

B. Tlesd HH 1. &1

C. TRTHTHEIAT |11 3R]

D. WiH YT UM |Iv. AfaEd]

Choose the correct answer from the options given below:

forgatferi¥aa croiforml @I o1 femRl @1 AT fIretror @3 3iiR A8l fapeu ol

[Question ID = 11223]
1. A-1,B-NI,C-1,D-1IV

[Option ID = 44886]
2. A-1,B-1IV,C-1ll,D-1I

[Option ID = 44887]
3. A-1L,B-1I,C-1V,D-I

[Option ID = 44888]
4. A-IV,B-1,C-1I,D-1Il

[Option ID = 44889]
Correct Answer :-
e A-Il,B-1ll,C-I,D-1IV
[Option ID = 44886]

100) Match the following brain structures with their basic functions

forgaiferRaa aIRase Jaesil @l oD el PrIl A freme  foeiferiRaa el 3 20 gol

List 1 List Il

A, Parietal Lobe || Vision

B.Broca frea |l Movement coordination

C. Cerebrum |l Body sensations

D.Occipital Lobe|lV. Speech production

List | List Il

2, QI 3Iea Al L EfF

B. SBTURAT Il 1 He FH=AY

C. TEH IIl. TR Tde1d
D, 3Tifee #fg Sliv. @ IameT

[Question ID = 11224]
A-T,B-TI, C-1V,D-T[Option ID = 44890]

A-1II,B-1V, C-Il,D- | [Option ID = 44891] )
A-1l,B-1,C-Ill,D- IV [Option ID = 44892] www.FirstRanker.com
A

-1V, B-1l, C-1, D-Ill [Option ID = 44893]
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